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1. 1 terabyte of memory=__;- 1.
A)
B

(A) 1024x1024 bytes
(

©)
(D)

~=

1024 X 1024 x 1024 bytes
1024 X 1024 x 1024 x 1024 bytes

D) 1024x1024x1024 x1024 x 1024

bytes

2. A file containing relatively permanent - 2,

data is

A) Random file

B) Transaction file
Master file

D) Sequential file

3. Which of the following is correct forPOS 3.

machine ?

Cashless transaction
B)  Point of sale

Digital payment

D) All of these

4, Which of the following program is not a 4.
search engine ?

- (D)

R l 7~ A@QQIRESULTE
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1 ERE A =

(4)
(B)
©

1024 x 1024 91324
1024 X 1024 x 1024 1324
1024 x 1024 X 1024 x 1024 EIECAY)

1024 %1024 X 1024 x 1024 x 1024
EIESAS|

@A, T |
A) =T BEd

MR B9 § Tt B

(B) TR P

(

(

(C) ¥R ®EA
(D) THRtRE wEa

T POS TR ¥ Fret 3 4 o e £

(A) ﬁar{%a (FTRE) oA

- (B) AT % A

(C) fefsieat Wz (fefSea yram)
(D) 3T w+ft

1 7 ¥ - g w v S e

(A) Opera (A) 3T

(B) Bing . (B) fefm

(C) Google .é' ' (C) ™
< LTE

o v (@WNDIRESUTE O T
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5.  Hardware that creates sound from a
mathematical representation :

(A) Sound synthesizer

(B) Stampers

(C) Speakers

(D)  Set top box

6. How many types of page orientation are
available in MS-Word seftware ?

A) one

B) two

~—

(
(
(C) three
(D) five

7. In._

d1v1ded 1nt0 smaller spectra and is

_ flequemy spectrum is

allocated to each user.
- (A) TDMA

By CDMA*

(C) FDMA

(D) FGMA

8. What is an animation ?

(A) Picture formation

(B)  Provide motion to still pictures
(©) T‘aking out print
(D) Changing pictures into a graph

5.

6.

7.

LN 6INDIRESULTE

YOUR SUCCESS PARTNER

ﬂﬁrﬁﬂquqaﬁwﬁ i I el
FSAW HIA-H 7

(A) e THIuRSR
(B) wWud
(€ vl

(D) ¥ 9 ==

THE-98 URER ¥ fam g & O
(8)
B
(C) dr
(D)

-  F fireddt @eeH T BR-8R
W1 H faviior foram T & TR e S
RICICATCIS G
() AZTWY,

By @dmmE

(C) THELWT,

(D) UHSLTAT,

TERE TR 2

(A) TR |
(8) oot fdli =t ifay 2
(C) Tu= Tramrern

(D) W% ¥ feal &1 ager
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9. A computer virus developed in 1986 9. 1986 ¥ forf¥ foran a1 Sraex amr

which infects the boot-sector of storage - o R fofear & -9 91 yefom =
media formated with MSDOS FAT % fS&% MSDOS FAT system@ format f&ra
system : TR, T '
(A) AIDS . (A) AIDS
(B) Brain (B) s
(C) Friday C) WS
(D) Sobig (D) difem
10. InMS-Excel software a formula is entered 10. TH.UE.-T9HE SR & 99 o T ‘FIT{\FH
into a cell using symbol. foe &4 e &1 swim foan
Sidl g |
(A) # (A) #
(B) @ : (B) @
© & O &
O = | D) =

11.  Free open source software for website 11. 331’@132 fofor %‘g{ HI-HTH WY FRaw &
designing is E "

(A) PHP | , (A) PHP

(B) C# (B) C#

(C) Coffeecup (C) Coffeecup
(D) Python. (D) Python

12.  Which protocol is used for browsing 12. 'élv]i\a"laWEE%Wm QIETehTel 1 ST

website ? ' o s &2
(A) TCP (A) A,
(B) HITP . - (B) wAAM
© Fr (FINDIRESULTE (@ wa
(D) TFTP (D) dLuw2d
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13: It is not an Anti-virus software :

(A)
(B)
Q)

(D)

14. XD - Picture card is a memory card used

in digital cameras. What does XD stand

for 7

(A)

(B)
©
(D)

Quick Heal
Kaspersky
Norton

Python

Ex-digital
eXtreme digital
Extra digital

None of above

15. Thermal Printer uses :

*)
®
©
)

16. In internet IP address is called :

(A)

Ribbon
Ink
Powder

None of these

Internet Point

Internet Provider

Internet Procedure

Internet Protocol }{/” |

15,

14.

15.

16.

Cf.j INDIRESULTE

YOUR SUCCESS PARTHNER

g T UoI- TN GRS 8§
(A) ok g

(B) RIEITETS

(C) A

(D) W@

XD - fyaer #12 Tefoea s & fod T
FE T XD H M Aad 2

(A) wEg-fefora

(8) A fefsea
(C) wfefen
(D). ST H %% T

Hﬁ?{ﬁ}aﬁW%ﬁT%
(A) e

(B) 3% (W)

(€) wE

(D) T 9 =

(A) IR ERE

. (B) R EEe

(C) 3 WSy

NDIRESULTE(D) 3w dew
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17.

'17.  Which of the following printers uses the
photocopy technology to print ?

(A) Inkjet printer
(B) Laser printer
(C) Thermal printer |

(D) Dot matrix printer

18, MIT of USA has recently (2016) developed
a new printing technology called :

(A) 4D printing
(B) 3D printing
(C) Web printing
(D) None of these -

19. In which of the following devices after

storing data no alteration or deletion can
be done ?

(A) Floppy Disk
(B) Hard Disk
(C) CD Rom
(D) Tape Drive

20.  Which one of the following is a free open

source operating system software ?
(A) ZENIX

(B) WINDOWS 7

(C) UNIX
(D) UBUNTU

19.

Yo
/C/o INDIRESULTE

YOUR SUCCESS PARTHMNER

x
(#)WoiResuLTe

frer 3 9 A R @ Bz v A ¥

FoT FE R Bl S S 2

(A) T fi

(B) ISR e

(@RERERICA

(D) e Afead =

U, S G TR 7 2016 H i
(A) 4D T

(8) 3D fufem

(€) == i

(D) T € FE TR

Ty fearg 4 S &l W0 & 918 394
IRgda T F G 9 22 TE TR ?

(A) T feen
(B) @S o=
() HiEiim
()

19 4 § ®F-11 GTRAW U Hi-309 9
AR ey Hiwedm 22

(A) S

(B) faei=7

(€ A

(D) 39
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PART-B / ¥ - @ 26. it =i e Wiy faesg ¥
(A) T+
21. W WS T € (B) T+
(A) ST (C) g+Hita .
(B) fomarmy (D) da # @ =g T
(C) T
(D) @ g 27. ‘wue) i fru gEE e 77
(A) TG T e
22, TCHH VIS HEd § (B) 3Tl % HT
(A) Tl o % et v © st@Faw
(B) W= F fod w9 A (D) SugE & Y T
(C) Torent =g et = it .
(D) S @it 28. ‘S HE FT A & AN F AT T =
?:
23. frmafafed & § wvesd oo € '(A):'aqm
(A s (B) T
(B) < Q) =
© = (D) w7
D) , -
: 29. Trafafas # TRE@R FH-W & ?
24, 'SR H Il @ SO HEE B9 ® (A) &
() @ () Sw
B) gi=@fern (© v
(C) 3T ST ! HA HEw o (D) stfeeafed
(D) Tl &I GAM HE <
' 30. ‘3 =S g S cerndt € gy A= |
25. WIS % fauw wxon § fee wemd g € 2 “Torardt ¥ f1e1 H fhu v 1 sema ©2
(A) T (8) wHHF
() <= . (B) eiIed
Q T (i ©) eEd®
O @womesys O T
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31.

3Z.

33.

Choose the wrongly spelt word in British
English

(A) skillful
(B) signalling
(C) distiller

(D) kidnapper

‘The ship was castaway on the coast of
Africa’.

In the above sentence ‘castaway’ means :

(A) loitered
(B) extolled
(C)  wrecked
(D) anchored

"You can dial Rome direct’

In the above sentence the word “direct’ is

used as ;
Adjective

(B) Preposition

C-.'f// INDIRE

YOUR SUCCESS PAR

34. She told me, “Don’t bother sending me

35.

(C) Adverb .
o v (F)INDIRESULTE

an invitation.”

Choose the correct transformation of the

above sentence into indirect speech.

(A) She told me don’t bother sending

her an invitation.

(B)  She told me not to bother sending

her an invitation.

(C) She told me did not bother sending

her an invitation.

(D) She told me did not bother to send

her an invitation.

Which of the following word is not a

synonym of the word “pouch’ ?

(A) Satchel

(B) Sac
(C) Sack
D) Pou
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Choose the expression in which the

preposition “on’ is correctly used.
(A) On Christmas morning

(B)  On Christmas afternoon
(C) On Christmas evening

(D) None of the above

"All precautions must have been

neglected, for the plague spread rapidly’.

In the above sentence the word “for’ is
used as :

(A) Preposition
(B) Conjunction

(C) Interjection

YOUR SUCCESS PARTHNER (D) Adverb

ihdiresult.ih whatsapp - 9352018749

36. "Who taught you French 7 39.
»Which of the following is not the correct
transformation of the above sentence into
passive form ?

(A) By whom was French taught to
you ?

(B)  Who were you taught French by ?

(C) By whom were you taught
French ?

(D)  French was taught to you by who ?

;37 . The plural form of the word “kilo’ is :

(A) kiloes 40.
(B) Kilos

| (C) kilose
(D) | kiloce

38.  Which word is the correct antonym of the

word ‘preamble” ?
(A) Epilogue
(B)  Exordium
(C)  Prolegomenon /',
0 mm  (ZINDIRESULTE
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41, If x+y=V3,x-y =42, then the 41 A x+y =3, x -y =12, @ oA

expression 8xy(x2+y?) has the value : 8xy(x%+y2) =1 WM BT
(A) 53 @ 52
(B) 20 (B) 20
© 1042 (©) 1042
(D) 5 (D) 5
42. In the fouowmg ciccle /CAD+/CBD= 42, f7/4 99 § LCAD+ £CBD=

‘B___A B A
i %
(A) 60° | (A) 60°
(B) 30° (B) 30°
© 1 L (© 120°

(D) 135° - (D) 135°

43. In a convocation averégeiWeight of  43. TwEI AW 16 gewl %1 399q 9519 55 F.aT,

16 members is 55 kg, average weight of g 25 el = A a7 45 fpn & qen
25 members is 45 kg and average weight - 14 G911 3figa o 40 fEam, g, @ sy
of 14 members is 40 kg. Then average & Teft T o sied aom W Y

weight of all members in a convocation
1S

(A) 405 kg (A) 405 T

(B) 465 kg (B) 465 fw.m.

(C) 445 kg /'- (C) 445 fFm
X ESULTE

(D) None of thesecs'o !NP’I‘B‘ : §p‘” (D) ECe e SIS TEl
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4. 2-242-2+ ___ 2017 terms = 44, 2-242-2+ 2017 % qF=
(&) 0 | (A) © |
(B) 2 ' (B) 2
© =2 €] =2
D) = | (D)
n/ -1/ n -1
45. The value of (27)/3 X_(B) i is equal to : 45. o (27)A X_(S) i H1 HE BT
(162) 72 (162) b
(A) 20 R (A) 2n
(B) 3n+3 (B) and3
€ @n)" | - © @
D) @E3" D) E®

26. If 3a+5b=8500 and 52a—3b=8500, then ~ 46. 7% 3a+5b=8500 T 5a—3b=8500, T

values of a and b will be respectively. HHIM: 2 A b & TTF BN '
(A) 500,2000 (A) 500, 2000

(B) 2000,500 o (B) 2000, 500
(C) 85,8 : ~ (C) 85,8

(D) 8,85 (D) 8,85

47. Each interior angle of a regular polygon ~ 47. T& GHgYS &I Y I 10 144° &

is 144°, then how many sides are there in - A S FHARYE | That o E,
that regular polygon ?
(A) 5 (A) 5
(B) 8 . (B) 8
© 10 (4, © 10
) 1 (#DIReSULTE
D) 12 D) 12
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49.

50.

(D) none of these

If  2=0.002, b=0.003,

(a+b)?—(a—b)2=

(A) 0.006

(B) 0.024
(C) 0.0000024
(D) 0.000024

Ifa:b=2:3, then

(2°=Dbf) : (a*—b*) (a”+ab +b%)=
(A) 713
(B) 13:7
@ 1:2

(D) none of these

then

>
QOINDIRESULTE

RRRRRRRRRRRRRRRRRR

48.

49.

50.

(D)

uuuuuuuuuuu

1 1 1 1 o1

RRRRRRR

1t St —— =

2 22 Bt 16

(A) 0
1

B ~
©
(D) = AFE 7
aft a=0.002, b=0.003,
(a+b)2—(a—b)’=
(A) 0.006
B 0024

(C) 0.0000024

0.000024

I a:b=2:3 T
(%=1 : (a*—bY (a2+ab+b2) =

(A) 7:13

(B) 13:7
< 1:2

(D) ¥ 9 %13 T

0127/ SE-QB/RCE-M
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, 51.  Sum of three numbers is 116. The ratio ~ 51. I &A=l I AN 116 §1 T we&A §
of second number and third number is A BT UM 9 : 16 © a1 Ygalt | die
9 : 16 and the ratio of first and third is magma1:4%ﬁ{ﬂﬁﬂ@®1%?
1 :4. Then the second number is : -
(A) 30 (A) 30
(B) 40 (B) 40
Q) 45 (C) 45
(D) 36 (D) 36

52. A train of length 300 meters is travelling 52. 300 HieX o LLCH 1(71‘“@"'} 54 for. o, / Al
with a speed of 54 km/hr. It takes TR U 99 @ B 1 30 T YA &l I HA |
40 seconds to cross a bridge, then the’ 409 T A el sl c_’PEﬂEr B ‘
length of the bridge will be : :

(A) 250 m (A) 250 Hi.
(B) 300 m (B) 300 H.
(C) 350 m (C) 350 .
(D)  None of the above (D) 4 =E &

53. In the following shaped utensil, if one - 53, = Wﬁ %Eﬁh ﬁ, afe @—ﬁrg@ TR qHY
third is filled of water, then volume of the QW %, A Y ST T A © '
remaining part is : '

10 cm ~[oa .
15 cm 1581
5cm 53 4.
(A) 750 cm? (A) 750 A3
(B) 150 cm® (B) 150 ©.Hi3
(C) 500 cm? . (C) 500 G¥3
O 20t (FINDIRESULTE () 20 sk
SPACE FOR ROUGH WORK / T &1 & fod wrg
indiresult.in whatsapp - 9352018749
Set- A

0127/SE-QB/RCE-M

]




54.

55.

(D) none of these

indiresult.in whatsapp - 9352018749

Volume of shaded portion in the  54.

following figure is if :

(i) Radius of base of right circular

cone=6 cm.

‘(i) Radius of base of cylinder=3 cm.

(iii) The base of right circular cone and

cylinder are concentric.

Given that the height of cone is 10 cm.
(A) 47 7 cmd

(B) 84w cm®

(C) 47 cm®

(D) 84 cm’

If 5 men or 8 women complete a work in 55.

26 days, then 4 men and 4 women
together can complete that work in how

many days ?
(A) 13 days
(B) 20 days

1
©) 85 days

>
/C/O INDIRESULTE

YOUR SUCCESS PARTHNER

' /.1
| QOINDIRESULTE

YOUR SUCCESS PARTNER

ﬁmﬁaﬁmmmmﬁ%?ﬂ?:

() = FAE WEH F OAER &
=6, 2

({) o % MR & =3 9. ¥

(i) dTH Tl AH A UG F IMEUR
TR ¢ |

Y B S 10 V. T
(A) 47 = 9.3

(B) 84w ¥H3

(C) 47 G.Hi3

(D) 84@HI3

.WESWHTS#\[WWWF?

26 foii # qu o € @ 4 S iR 4 Shr=q
et 39 & i {1 el ® qu i ?

(A) 13 fe
(B) 20 f&

© 8f
(D) T YR T

SPACE FOR ROUGH WORK / T% @& & Tl 5g
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56. In the following parallelogram, ZBAC= -~ 56. 1= ¥0HRR ?l_g[ﬂ?f ¥, ZBAC=

B D
40°
B U C
(A) 50° ' (A) 50°
(B) 60° ' (B) 60°
(C) 70° © 70°
(D) 80° ' (D) 80°

57. Incourts A, B, C, D and E the number of ~ 57.. A, B,C, D 9l E <@ ¥ Tse=aal &%

pending cases against politicians were fawg «ffed qga3al &1 & S
respectively 3 thousands, 5 thousands, 3R, 5 TR 2 &R, 4 BIR q4T 1 29K 9
2 thousands, 4 thousands and 1 thousénd s o/ o9 & 91e shaw: 50, 20_ 10, 40
in which after final decision 50, 20, 10, T 30 TsHar 'CUW A T 3Tq: ol

40 and 30 politicians respectively were TSI 1 i< =y ol ©
found free of charges. Hence the average - ' '

charged poliﬁcians per court is :

(A) 2500 | (A) 2500
(B) 2900 (B) 2900
(€ 2970 (C) 2970
(D) 2570 (D) 2570

SPACE FOR ROUGH WORK / T% &1 & ey sig
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58.

59.

60.

In a shop it was written that if one takes
first Jeans then 30%, for second Jeans
50%, for third Jeans 80% and fourth Jeans
will be given free of cost. A person
chooses first Jeans of ¥ 700, second Jeans
of T 800, third Jeans of T 2,000 and fourth
Jeans of ¥ 4,000. Then total how much
amount he will have to pay ?

(&) 1,210
(B) 1,290
(C) 5,290
(D) %5210

63+9—-6X7+6+3—-2=
A) 20

(

(B) 30
(C) 40
(

C
D) none of these

If a student increases his speed to
4 km/hr then he reaches his college
20 minutes earlier whereas if he slows
down his speed by 2 km/hr, then he
reaches his college 40 minutes late. Then

the original speed of the student will be :
(A) 2 km/hr
(B) 3 km/hr "

© 4km/he @lNDlRESULTE

YOUR SUCCESS PARTHNER

(D) 5 km/hr

58.

59

60.

©

T T H T foral o1 Ff Tee i on W
30%, THU S{I=6 T W 50%, TE S R
R 80% G A =W gt § frn s
T ekt Teell S T 700 Nel, TR Sy
% 800 aTefl, e =g T 2,000 el awl
9 S0 T 4,000 ST T8 HL1 & | e 3
ol Tohe T YIAF T T 2

(A) 1,210

(B) %1290
% 5,290
(D) %5210
63+9—6X7+6+3-2=
(A) 20 |
(B) 30

© 10

(D) ¥ | FE T

i fordl o& -+ 919 0% afaw T 3
4 T AL /5 Ao Bt & 9 20 fire
TEel HieS Ued Sl & SEih SO 9@
2 Tl /50 =9 2R R 97 i 40 e
R TGN T | B ] reata =1t 2

(A) 2 T&d /=5
(B) 3 fep.HL. /5
€ 4f®H. /57

(D) 5 Frt s

' s |3 |
0127/SE-QB/RCE-M ©° } <t !
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61. How much percentage of numbers in

1%,22,3%, ___,2016? are there having 2
in the end ?

(A) 50%

1
33=%
B) %

Q) 2%

(D) 0%

62. If the sum of two natural numbers is 8

and the difference of their reciprocal is

—2—. Then the numbers will be :

(A) 3,5
(B)
© |
(D) None of the abqve

2,6

1, 7

63. Ram purchases a mobile in ¥ 2,000 and
sells to Sohan in ¥ 3,000. Sohan sells it to
Rakesh in ¥ 3,500. Then, Rakesh had to

pay how many percentage more than

61.

62.

63.

S E3,000 H 9T <A@ T WA Y WS HI

@moresuie
12,0232 20162 ¥ fore wiara <At
WERAF 28?2

(A) 50%

10
(B) 335/0
©) 2%
(D) 0%
S Yrh s TRl H1 M S R qAT ITH o™

wm%%aam 7RI

(&) 35
(B 26

© 17 |
(D) R A E
9 2,000 ¥ T HEsd Sl § 920 9ig

73,500 H S T S| T U I 3W HERA
& fore T 4 Tora giaem e S 14 &

Ram ? qS?
(A) 50% (A) 50%
(B) 20% (B 20%
C) 75% Y, Q) 75%
1 (#)WoiresuLTz 1

(D) 135% (D) 135%

SPACE FOR ROUGH WORK / % & & ol g
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% 64. At5% rate of simple interest in how many 64. 5% IR =TS i X g frad od #
} years interest of ¥ 2,000 will be double of % 2,000 1 SR GeALF H1 LA B SR
the principal ? ‘
(A) 4 years (A) 4 L
(B) 40 years (B) 40 Iy
(C) 20 years < 20 CL
(D) 2 years (D) 2 EL
65. Which of the following number is nota  65. frofafiad § O SH-1 9E U T8 8 2
rational number ?
85 x 2/’ 8 x 272
SRR B gk
B Hhxghxgh (B) 2% x 8% x 8/
125/3x 164 1255 x 16/
(©) 7 7
(D) None of above (D) S H HIE el
66. The LCM of two numbers is 131387 and ~ 66. <1 HA3H 1 Tgod THHa 131387 € a1
the GCD is 37. If one of the number is 3T HE9H gHUE 37 1 4fg & 3%
1961 the other number is : 1961 & N THT 3F T
(A) 2579 (A) 2579
(B) 2369 (B) 2369
(C) 2479 (../ (C) 2479
%)INDIRESULTE
(D) 2469 /J‘,voun lUCCES$HR1NER (D) 2469 .
SPACE FOR ROUGH WORK / T% &t & fedl g
indiresult.in whatsapp - 9352018749
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67. The square root of 1391.29 is : 67. 1391.29 % A ¢
(A) 273 (&) 273
(B) 373 (B) 37.3
(C) 333 (C) 333
(D) 37.03 (D) 37.03
68. A person sells 15 things inZ 33 and earns ~ 68. & odfad 15 I&qu T 33 # 9¥al € =R
10% profit. If he sells similar 10 things in 10% @ Ha[ 31 A 9 T 10 g=qy
% 25, then what will be his percentage loss 325 ¥ o=dl §, A1 W Tora ufaerd aow 2
or gain ? HIER P
(A) 25% profit (A) 25% @™
(B) 25% loss (B) 25% w1
(C) 15% profit (C) 15% Fﬂ“{
(D) 15% loss (D) 15% @M |
69. If area of circular reglon is 154 cm?, then  69. A TH IX1F &5 H &%A 154 QA2 F, @
the total surface area of the cube whose SHeh BT < SR eaTel 99 & 9ot ewaa)
side is equal to its radius will be : 1 el HARA BT -
Aa) 7 (A 7
(B) 294 (B) 294
O @ @jnomgsugE ©
(D)  none of these LT
SPACE FOR ROUGH WORK / T® &t & o s1e
indiresult.in whatsapp - 9352018749
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70.

71.

72

At5% per annum rate of compound 70.
interest what will become the amount

T 4000 after 24 months ?

(A) < 4,100

(B) 4,210

(C) T 4,400

(D) 74,410

Sameer walks 20 meters towards north. 71.
Then he turns right and walks 30 meters.

Then he turns rightand walks 35 m. Then

he turns left and walks 15 m.

Then he again turns left and walks 15 m.

In which direction and how many meters

away is he from his original position ?

(A) 35 meter, West

(B) 30 meter, East

(C) 45 meter, East

i(vD) 30 meter, South

Following are given four group of letters. g
Three of them are alike in a certain way

while one is different. Choose the odd

one.

(A) ALMZ

® oY ( #)INDIRESULTE
(C) CPQX

(D) DEFY

6INDIRESULTE

YOUR SUCCESS PARTNER

%Wﬂaﬁﬁimaﬁaauow
24 1 1% fohe 2 s@m 2 - -

(A) % 4,100
(B)
(C) T 4,400
(D)

34,210
34,410

FHR ST ST T 20 HeT It 1 39%
a1 H i 0 SR 30 T Tl | I
e O T8 SR YSH 35 Hi Ferdl 1 o4
& T Th YSRT 15 T = §1 T 9
T qEHT 15 HX Jol ¥1 odss Iga

7o ferfa 9 fralt ot W ek form foom 1
3R 219 < feem 22
(A) 35 iR, gfyem sy

7 r\?zc S [
(B) 307%i wd W =%
(C) 457, d ©
(D) 30 HI, <feq

Sl W T A R € e S e
ﬁmﬁ@mﬁwzm@waw
g1 T W A

41212 24
ALMZ

2309125
BTUY

2161224
CPQX

502S
EFY

(&)
(B)
©
(D)

SPACE FOR ROUGH WORK / 1% =td & fedr W
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73. If
31+72=26
52+45=32

then what is the value of 47+83 ?

3

-‘q'f‘g.

iiiiiiiiiiiiiiiiii

31+72=26
Ch 468 BF

2+45=3
€ ¢

2
B DE (%

Ol

aMmgeéw HH 1 I 2

O
(A) 125 (A) 125
(B) 44 (B) 44
€ 22 () 22
(D) None of above (D) I H FIS T8
74. Cho;)se the missin'g term from the 74. W@Mﬁﬁﬁﬂﬁ%m@ﬁw
following alternatives : ' ﬂﬁm ;
' 67 9 n
- 3F,6G, 11, 18L, __ 2 . 3F, 6G, 111, 18L, __2 .
b F R R
(A) 210 (A) 210
(B) 25N (B) 25N
(© 27p . () 27P
| INDIRESULTE |
oy (YINPIRESULTE o)
SPACE FOR ROUGH WORK / 1% & & o wmg
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75. Choose the diagram in which the - 75. fod gu ol 4 @ = Fox o e Freafafaa

following groups of elements fit SeE| 1 T Tl GRERSREECRE
%‘f correctly : =
House, Brick and Bridge R, 32 AR Y
o 0 &
O ~ O |
® | ®
® O RS \/

76. Study the following figure and give the  76. frefatoa fo =1 e w0 RO &1

answer of the question : If rectangle IR A : ST T PR 9 €, 9
represents artists, the circle represents ' f@?ﬂéﬂf QEI ﬁﬂ?f IEIERIED ?{Sﬁ—dT %l

q players and the triangle represents
doctors.

N N
30 w 30 W

R —

How many players are neither artists nor T Tore Taanst € s 7 1 FedaR § iR A &
doctors ? EIETSEN:

(A) 3 (A) 3

(B) 4 (B) 4

© 22 ’ (C) 22

© 5 (#NDIRESULTE @ =

SPACE FOR ROUGH WORK / T% & & {a& g
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77, Select from the alternafives given below 77 43 fod Tl A H wé oo T S fd
to complete the missing portion of the @ﬁ‘&f o L
given pattern : :
| | N
4 \\ AN \
<l
/ \\
| N\
PN 7N
(&) (A) | F\
I — _
| \\l B ‘\ j
® ™ ® )
|
(D) ﬁ % (3) f %
78. I P denotes’+’,Qdenotes’X’,R 78. 'qﬁP"f’?{ﬂcﬁT%,Q’X'm% R, 4+
denotes “+” and 5 denotes ' ', then the LI TS -’ Ty Tl
value of
% =t T
18Q12P4R5S6 18Q12P4R556
g & T T4 B
(A) 28 (A) 28
(B) 53 . (8) 53
(C) 55 6:./0 !N pJﬁESS ULTE (C) 55
} (D) 380 (D) 80
SPACE FOR ROUGH WORK / Th 14 & g SE
3 indiresult.in whatsapp - 935201\%749
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In the following letter series some of the 79.

letters are missing. Choose the correct
alternatives in which the lefters are in
same order of blanks :

_acca _ ccca _ accee _ aaa
(A) acca
(B) caaa
(C) ccaa

(D) caac

>
QOINDIRESULTE

RRRRRRRRRRRRRRRRRR

ﬁmﬁfﬁ@aaméﬂﬁﬁgwamﬁ‘ﬂﬁ%a
frefatad famed ¥ ¥ 9@t famey g w0
e e el F A A R

_ acca _ ccca _ accee _ aaa
(A) acca
(B) caaa
(C) ccaa

(D) caac

80. Figure (X) is embedded in one of the ~ 80. = (X); (A), (B), (C) 3 (D) & ¢ frehl v
following figures (A), (B), (C) and (D). o o Tifea ®1 =9 foa o BT
Choose that figure. -
7 I
) )
(4) (&)
(B) (B)
@ o 4
/ «
- @noiResut
SPACE FOR ROUGH WORK /T % fer e
indiresult.in whatsapp - 9352018749
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81. Find the missing number in the following ~ 81. ﬁﬁlﬁfﬂ'\@ﬁﬁlﬂﬁ e de EU
box. '
111 3 | 49 : ' 111 3149
5119 7 5 1191 7
7 | 13 | 100 | 7 |13 | 100
(A) 49 (A) 49
(B) 121 (B) 121
(€ 169 » (C) 169 .
(D) 144 (D) 144

82. Study the following figure and give the ~ 82. Frerfefan fost o 21eaad hd gL W

answer of the question : If rectangle I SN - ?fﬁ Ad IEEE ATEeIGIl %, EN| :
represents artists, the circle represents f@ﬁ@@ %ﬁi\‘f{ Tafewcger i 2l . 5

players and the triangle repfeéen"t_é doctors.

N
%4 27

EO AV
How many doctors are either players nor fo e 7 e T 8
artists 2 ’ fasar ? - ;
(A) 30 (A) 30
(B) 22 B) 22
) 27 ) 27
(D) 8 O ¢)INDIRESULTE D) 8
| S;PACE. FOR ROUGH WORK / % @ % R e |

indiresult.in whatsapp - 9352018749
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83.

84.

85.

A mouse runs 20 meter towards East and
turns to right, runs 10 m and turns to right,
runs 9 m and again turns to left, runs 5 m
and turns to left, runs 12 m and finally
turns to left and runs 6 m. Now which
direction is the mouse facing ?

(A) North
(B) South - East
(C) East

(D) West

Find the missing term in the foIIOWing
number series :

7,12,28,52, 2 .
(A) 68
(B) 85
(C) 124

(D) 128

Choose the numeral pair which is
different from others :

(A) 70-80
(B) 54-62

(C©) 28-32 .

oy 7% @lNDlRESULTE

uuuuuuuuuuuuuuuu

83,

84.

C';//OINDIRESULTE

RRRRRRRRRRRRRRRRRR

TF TRl Yd R 20 X g ¥ eik
T8 HR gEHT 10 Hew e § ok o ain
TSR 9 HIKX T B, T 9 3N gea
5 Hiiex et § Sl o1 9w 12 Hiex dremr
310 ¥ S 3T qea 6 et Jredl ¥ o7 a5
et P 61 9 e e e )

(A) IW

Fretafad e 4oft 9 s g 3@ =54

L _
?, 12,28,52, 2

(A) 68 -
(B) 85
(C) 124

(D) 128

85. Wﬁ@r—ﬁ@*ﬁaﬁmﬁ@ﬁq%:

(A) 70-80 49
(B) 54-62 g

© 28-32 4

‘(D) 21-4 3

'SPACE FOR ROUGH WORK / & & % o e
indiresult.in whatsapp - 9352018749
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86. A Remote of a television is related to :
(A) X-Rays

(B)
(©

Ultraviolet Rays

Infrared Signals

J

(D) None of fe above

Which is the most appropriate criteria to
measure the economic development of a
nation ?

Tncrease in Gross Domestic Product
Increase in Net National Income
Increase in Per Capité Income
Improvement in  Human

Development Index

88. Lime water contain :
(A) Calcium Hydroxide |
(B) Sodium Hydroxide
’\C) Calcium Chloride

(D) None of the above

[@:2]
&

Which sector has more growth rate to-
accelerate the industrial growth of India
in 2015-16 ?

(A) Mining and Quarrying

(B
{©)

(D) Construction

Manufacturing

Electricity

87.

88.

89.

YOUR SUCCESS PARTNER

C’Z’OINDIRESULTE

 @noresuuts
T -

y

| eeitae s T fae et €2

73 Y
=1

(A) UM

(B)
©

tal

quET TRl @

srareE dordl |

2w A wideE EEe E oy 1 e

IqgEd TIAVE HITELE /

>

ECRECIE EEiCI R Gl

b xS s ‘\_: ST . 7:}. B o ~ ~
g9 2015-16 3 Hidd & 3T JIG QU &l
e H ikE & & glE = iR W e 7

(A)
(B)
©
D)

SPACE FOR ROUGH WORK / T mréiasfaiﬁ A
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90. In which natural region maximum = 9(,

diurnal range of temperature oceyrs ?
(4)
(B)
(€)
(D)

Equatorial Region
W. European Region
Mediterranean Region

Hot desert Region

91. The human eye forms the image of an 91,
object at its :

(4)
®
(C) Pupil

Cornea
Iris

(D) Retina

92.  The filament of a bulb is made of : 92.
copper

tungsten

aluminium

lead -

93. The gas used in fire extinguisher is : 95.
(A)
(B)
©
(D)

Nitrogen
Sulphur dioxide

Carbon dioxide

Hydogen  (FYINDIRESULTE

- ©

iiiiiiiiiiiiiiiiii

Faifus 2 AR 5 WHTF ToW |
T S B 7

(A) Torge et
(B) ¥=H UM g ¥
(C) et W e
(D) I HEEAGT W

T 1 3w ¥ T o = et v W
A 82
I+

ARG

(A)

(B)

D)

St A Ty g % smE A 2
(8) T ‘

(B) TTHR TRAFES

©) e SRS

(D) wwIeH

* SPACE FOR ROUGH WORK / 1% &Td % ford W
| _ indiresult.in whatsapp - 9352018749
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94. In which side of the continent the Hot 94,

deserts are located ?
Eastern
Western

C) Anywhere

D) Middle

95.  Who of the following Governor-Generals ~ 95.

Promulgated the policy of ‘Subsidiary
Alliance’ ? '

(A)
(B)
©
(D)

Warren Hastings
Lord Cornwallis
Lord Wellesley
Lord Dalhousie

96. Who of the following was the first Home  96.

Minister of Independent India ?
(A) Sardar -Patel

(B)
©
(D)

Govind Vallabh Pant
Jagjivan Ram

Maulana Azad

97. Guijarat is one of the chief producer of  97.

which of the following crop ?
(A) Wheat

(B)
© -

(D) Coconut F{//INDIRESULTE

YOUR SUCCESS PARTHNER

Sugarcane

Bajra

®)

OINDIRESULT

YOUR SUCCESS PARTN,

wwmﬁ%mmﬁmm
€2

(A) Tl

(B) arv=Hl

(C) & 0

(D) wege

frefafed ¥ Q fog ToR-9a A gEEs
iy’ =t il sp1 g e ?

(A) T LT
A I
Q) S A
(D) e TARS

WA R F g e Fefeted § S
FIEAA?

(A) HERR 9d

(B) Tfee STety

©
(D)

SUSICE i

AT SIS

frefafea ¥ 9 g w8 % TRE I&A
IEAHAR § TH B2

(a)

(B) T

©)

(D) REe

SPACE FOR ROUGH WORK / 1% &t % f& s
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98.

93.

160.

101.

An important cash crop of Punjab is

(A) Cotton

(B) Jute

(C) Manila Hemp
(D) Bajra

Diphtheria is caused by Followmfr 99.
organism :

(A) Fungus

(B) Virus

(C) Bacteria

(D) Worm

Which is not the objective of scrapping ~ 100.
the ¥ 500 and ¥ 1000 notes ?

(A) to aBohsh black money

(B) to eliminate corruption

(C)  to accelerate the economic growth

(D) None of these

Which is not included in allied sectors of ~ 101.
agriculture in India ?

(A) Crops

(B) Livestock products

(C) Forestry

o o GNDIRESULTE

98.

o%

Q %) INDIRESULTE
TS 1 T ARy A e ©
(A) HTH
(B)

Treiiy MEIATEg 9 197 5 ch U] %*?ﬂ %‘*

(A) W (FER)
(B) ==

(C) e
(D) = ()

T500 W9 1000 & 92 9T W ¥ B

(A) TG B GAE
(B) YTER ST g ST

© s gig T @ TgH & fog
(D) =98 9 35 1

URT H B F wreg a6 R e e
[ERIS I

(A) wEd

(B) U % Sz
Q) =i ¥ gsiftm s
(D) AR
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102. The Second battle of Panipatin 1556 A.D.  102. 1556 % H HrFTd a1 fed g5 Freafatad 8
was fought between whom of the ERCECACIERSE I
following ? '
(A) Akbar and Rana Pratap (A) FH T U HAM
(B) Akbar and Hemu (B) A T %EL
(C) Akbar and Rana Sanga (C) TR Td O Wi
(D) Akbar and Durgavati (D) H=Es g §‘lia€il
103, which of the following sessions in 1929 103. 1929 ¥ freafafan # @ fiew sfecer # 1o
the Indian National Congress passed the R T S 7 QO s g :
resolution of “Poorna Swaraj’ ? RIEGRERIN
(A) Amritsar Session -. (A) ST SILENE
(B) Karachi Session : (B) =l SiRENE
(C) Lahore Session ' (C) ARR Ao
(D) Nagpur Session : (D) WYX CIRENE
104. What type of air pressure is found at the 104 Al & Sg § HF G G- IR S
centre of cyclone ? €2
i 1
(A) Low (A) B
(B) High (B 3=H
(C) Medium ; C
| #moesute
(D) All of the above (D) = § Tl

SPACE FOR ROUGH WORK / T& &Td % ferdl Wie
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|

105. Which of the following includes the term 105. €GE i IS & geof o ‘ony @ e’
‘Office of the Profit’ in the context of vl 3 Fahinfeg §7

membership of Parliament ?

(A) Whether government has power of (A) &4 MHA H ﬁ{jﬁﬁ i AfEHR &
appointment

(B)  Whether government has the right (B) I TR 1 G F ATHHR SR
to remove the holder of office EIkd

(C) Whether government pays the

—
8!
N

1 USRS T I 37 S &
remuneration to the holder of office

(D) All the above : (D) 3ugdea st

106. A citizen who was declared disqualified  106. T =T SR Yda waitsa =g ERCCIE]

to contest election by the Supreme Court SR \ﬂ?flm =iy foren ey 58 g &

of India, even then she was appointed T Jj,{eqHﬂ[ % 95 R e frar o

Chief Minister by the Governor in a state. Y HeAHsH, TITE SR T 6l A1 o3 |

Name the Chief Minister, Governor and :

state.

(A) Mayavati/Romesh Bhandari/ Uttar (A) R /AN TR/ 929 -
Pradesh -

(B) Mamta Banerjee/N.N._ Vora/West - _ (B) HHM EFIGﬁ/QFE:l a‘m/*q. FTA
Bengal o

(C) Jailalita/Fatima Ali/Tamil Nadu Q) ~Ereferd/ wia et/ aiferrg

(D) Sheela Dixit/Nazib Jang/Delhi (D) v aﬁf&ﬁ/ st S/ fee]

107. Which type of wind belongs to loo ? 107. Q%’H YR & TI o ISR § 2

A) Permanent wind (A) TR e
B) Periodic wind ' (B) dMiE gaa

(
(
(C) Local wind 6//0 ! NPSI BE§ g!—:l:?; C) wrig wam
(D) None of the dbove (D) = & =13 T

SPACE FOR ROUGH WORK / T% &t % fordt =g
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108. What is correct about Appropriation Bill 7 108. fafrim fadees & fova 3w 08?2 113
() Itisintroduced by Finance Minister. () e fore et g S TR SRR |
() Itis introduced in Lok Sabha. (i) e hwE H T o S )
(ii) It can be amended by Lok Sabha. (i) ST TEH WA FERd T
(iv) Itis presigned by President. (iv) % TSl 5T Y Eeeia B ¢
(v) It gives the legal power to the Govt. (v) F& e 1 @D T B duR Tl
for expenditure. AR
(vi) Cut motion can be introduced by (vi) Wiere IR TS SR =
the opposition.
(A) (@) (), (v1) Ay (@, @), (vi)
®) (@) () ) | B) (@) @), ()
©) (), (), (v) © (@), i), (v)
D) @), (@), v) - (D) @ 6@
109. In which of the following years the  109. Frafafeg 9 4 feg 9 o ween m=h 3
Non-Cooperation movement was STEEAN 3MiEier i IEXIF
suspended by Mahatma Gandhi ? '
(A) 1921 o (A) 1921
(B) 1922 (B) 1922
(C) 1923 - | (C) 1923
(D) 1924 (D) 1924
| 1
110. Who can remove the members of State ~ 110. {4 e Tl AT & HeEl &l ﬁ:{ E EE
Public Service Commission ? X HHAN G ? ;
A) President . (A) UZald
O one (RINDIRESULTE |0 S
(C) Supreme Cour < Har=d =Eed :
(D) State Legislature (D) T faurmvsd
SPACE FOR ROUGH WORK / ¥ %d o ferdl 7 ‘ i
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¥ 111. Whichof the following is not included in 111, fF=fafea ¥ @ $9-u dfgm ¥ THT

the term ‘State” a5 defined i
in the articl | afeiyg ! : | wifaer T2}
12 of the Constitution ? ) . T : L

() Parliament

1 HE
(W) State Legislature i) T g
@ T e
(i)  Union Judiciary (i)  9EF =i
(it . ¢
(v) State Judiciary (High Court) (iv) T3 =ardifes (3= =mme)
- (3=9

(v} Union Executive [
(v) TEE SEgfeE

(vi) State Executive
| (vi) T wRiviforer
(Vi) All local authorities of [ndja (vil) RT3 T T i)
(viii) All Iocal authoritie
s under the viii) HRA ST & o g cur
control of Govt. of Ingia. " EURER ; -

(A) () (1) (A) (i), (i)

(B) (i), (iv) : (B) (i), (iv)
Q) () € (), (vi)

(D) (vii), (viii)
(vii), (viii) (D) (vii), (viii)-

112. i ' i
2. On which latitude is the syp vertically  112. 21 S =1 94 forg s1eriw Ya1 % o IR

located on 215t Jyune ? e @ g2
(A) Equator (A) foagea
(B) Tropic of Cancer (B) ek Wl
() Tropic of Capricorn © T Y
(D) Notth Pol .

P ()INDIRESULTE ©) =i g
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113. Mauryan emperor Bindusara was the
follower of which of the following
religion ?

(&)
(B)
(©)

Vedic religion
Buddhism
Jainism

(D)

Ajivika religion

. Which of the following Vedas contains

the famous Gayatri - Mantra ?
(A)
(B)
©)
()

Rigveda
Samaveda
Yajurveda
Atharvaveda

115. Which five year plan will be end in

2016-17 in India ?
(&)
(B)
©
(D)

13t Five year plan
11t Five year plan |
12th Five year plan
None of these

116. The weight of a body is measured

maximum in :
() Air

(B) Water
(C) Hydrogen
(D

) Nitrogen

113.

114.

A T figar Frafafed ¥ @ fra o %=
ST a1?

%INDIRESULT

(A) s

(B) s ¥H
(C) i e
(D) STshifoss

yfag s - w1 Frefatea # 9 few og |

g2
(A) FE
(B) HMET

Q) wER

| (D) 3¥HAT

115.

116.

% INDIRESULTH

4 YOUR SUCCESS PARTHMNER

(B)
(C) arEdl qeeE A

g T 2016-17 § S THawig A GHaw

(A) el qEedTE AT
TgREd! YHastd A

(D) =98 ¥ E R
@ﬁ@mwﬁwﬁm%’

(A) TgH
(B) S H
(C) wEgEHH
(D) TEESAH
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117. How many parts are there in the 1_1?_; RECERRETE R R PR
» - Constitution ? ‘ |

(A) 22 (A) 22
(B) 23 (B) 23
(C) 24 ©) 24
(D) 25 (D) 25

118. What is the loan limit of Kishor Bucket 118, T HeT A % S e w3z il

- under Pradhan Mantri Mudra Yojana ? Enulsi s i)

(A) 50,000 (A) T 50,000

(B)  %50,000 to ¥ 5 Jakh (B) 350,000 ¥ 35 drg

(C) T51akh to 710 Lakh ' (© ZsemaT10 e

(D) None of these ' (D) s A +E

119. What is correct about Finance Bil] 7 119. 15 foders 3 foromr & wit o 27
(i) Itis presigned by the President - _ O U F e T4 gxefid Bt ¥
() Itcanbe introduced in Rajya Sabha. (i) WWT=EH R [ERIKSIES Tl
- : gl

(i) Tt éan be introduced in Lok Sabha (i) 9% I AEG § AR IECRET IAS
only. ' RETIRS _

(iv) Rajya Sabha can refuse to assent {iv) JUEEL f‘aﬁw i wifa o 9 €oR
the bill. FGHA 71 |

(v) In the positibn of deadlock (v) Wﬁﬁqﬁﬁﬂﬁﬁmmww
President can summon for joint G AT gFd B
session of Parliament.

(vi) President can’t refuse to sign on the (vi) Tzulq fagaes W wwer FH G THR
bill Tl |

®) 0.6, @), | @) 0, 6) (), (v

®) () (i), ), (v) ® (i), i, ), (v

B) ( (
@@wwuwjz © () (i), (), )
% LTE
(D) (ii), (iv), (v), (vi) C;O !N P;IB cgs$p. nnnnn (D) (ii), (iv), W), (vi)
|  SPACE FOR ROUGH WORK / % T4 % Forf s
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120. Which state has least population in India

as per 2011 census ?

(A) Arunachal Pradesh

(B) Sikkim
(C) Goa
Mizoram

(D)

121. Which university of this state is associated

with Management Technology ?
(A) Méharishi University
(B) O.P. Jindal Universit_y
(C) Ayush University

(D). Guru Ghasidas University

122. Sports to which Harjit Singh is associated

with and he got fame from :
(A)  Athletics - Olympics
(B) Swimming - Olympics

(C) Hockey - Junior World Cup

nnnnnnnnnnnnnnnnnn

120, wE ¥ form T U SETHEAT 2011 SO

121.

122.

C:’(/)lNDlRESULTé

RRRRRRRRRRRRRRRRRR

¥ AR TR 7

(A)- STETEA ToT
(B) fafeen

(€ T

i fiie el et @ o € ol |1
e 2 vffs foeh 2

(A) TR - At
(B) ! - i

(C) T - i v &
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v
3. “Ghumura” dance is a folk dance of which 123 wwmm C;O!NP'IBE§QHE
h . <1 Tl 9 2
(A) Jharkhand (A) ¥rEs
(B) Arunachal Pradesh (B) SRUIEa oy
(C) Maharashtra C) wRRE
(D) Odisha | (D) 3iifem

1 124‘ f_\@m : q

3 centuries in a calendar year ? GIERGEAEE DR
(A) Virat Kohli (A) o= Feeq
(B) Ricky Ponting | - (B) T&tdifen
(C) Brendon McCullam (C)‘ ST ATy
(D) All the above | (D) STT Hft

!

in 2016 Kabaddi World Cup ? forar a2
(A) 06 (A) 06
(B) 10 (B) 10
Q) 12 g Q) 12
 @mwomesug @

(D) 08 (D) 08
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126. Match the following : 126. 3fea ey Sited | _ »
Archae.ologi'cal District W RCEE| P—
excavation sites T . _ J
(a) {Pachrahi  |() |Sarguja (a) |oreret (1) |wEgs
(b) |Sixpur (i) |Kabeerdham (b) {Fe (i) |sheRe™
(c) [Maheshpur |(iii) |Baloda bazar (c) [FreeTR (i) |SArST ST
@ Madkudéep (iv) Ma»hasamund (d) ‘Tsﬁq (iv) W@Wi@ J
@) B (@ (@ (@) (b) - (d
(A) @ @ @ O A) @ @) @) 0
B) @) @) 0 @) () @ @) O @
© @ @6 @ @ ‘ © @ © @) @

o) @ @ 6 @ 0) @) @) @ )

127. The country with which Seventh joint 127, Wl €I ¥ ST ST o A ol

military exercise Ekuverin was done by 29 % iy {an?
India. |
(A) Shrilanka (A) it
(B) Bangladesh (B) SR
(©) Maldives o (© wedE
(D) China (D) =

128. Inthis state under the Saur Sujala Scheme 128. GR gSiedl A & ST SH T 7 feami

farmers will be given which of the

following in subsidised rate ?

=1 e 1 Y femes foawo o sufdiss geEd
3 st ?

(A) Solar cooker (A). AR FH

(B) Pump for Irrigation (B) fo=r % fog 0w

(C) Gas cylinder . | (€ T fafeist
) At shone YNDIRESULTE (o) vt s

SPACE FOR ROUGH WORK / Ttk Td o Tordl SFT&
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129. Who is the present Chief Justice of India ?

130.

131.

132.

(A)  Y.V. Chandrachud

(

=

H.L. Dattu

C) TS. Thakur

~——

(
(D) Jagdish Singh Kehar

Which religion is associated with Losar
festival ?

(&)
(B)
©

Jain
Buddha
Sikh

(D) Hindu

World’s Iongest tunnel Gotthard base is

lIocated in :

(A) France

(B) Italy

(C) Switzerland
(D) Germany

Elected President of America, Donald
Trump was candidate of which party ?

(A) Democratic party

(B)  Republican party

iiiiiiiiiiiiiiiiii

129. m%aﬁqﬁg@m%ﬂwaﬂ?%?

(A) TR wgs
(B) Tawe <y
(C) 2LuE. 3@
(D) <t fifg

- 130.

(A) SH
(B) =
(© form
D) fog

131.

??

(4) wg

(B) weelt
(©) fagsrets
(D) A

132.

(C)  Green party @INDlRESU!-IE (© "
(D) Constitution party ~ (D) s et

Wmmaﬁﬁdﬁuﬂ%?,

ﬁ?aﬁmﬁa%wrﬁm*a‘aﬁﬁm
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133. Areawise, what is the rank of this state, ~ 133. &Rl i gfie | 36 T 6 Rk
in the country ? 27
(A) 6% (A)' 6l
(B) o (B) o
(C) 10t (C 103
(D) 11 (D) 113
134. Which is the 5T country inducted in 134 W@ﬁméﬁmm%mm
BRICS Nations ? g2
(A) Brazil (A) wSid
(B) Russia ()
(C) India (C)
(D) South Africa (D) <o TR
135. Marwa thermal power plant is locatedin ~ 135. HIEI epifel Ta @ile 36 U ¥F frg o °
which district of this state ? " feer ¥7
(A) Janjgir champa | (A) | S =T
(B) Raigarh (B) We
(C) Bilaspur (@) ERCEIRE
(D) Korba (D) <hReT
136. The fort situated in which place of this 136, ¥ T & et T Tl & T T
state is known as ‘Gaj Kila" ? TP A & ?
(A) Jashpur (4) X
(B) Sarguja A (B) WG
(C) Bastar (,/'/ (C) T&HX
o | GomeResIE
SPACE FOR ROUGH WORK / T v % fodl S8
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137. In which of the following years the British

138.

139.

territories of this state were incorporated
into a Division of the Central Provinces ?

(A) 1858 A.D.
(B) 1862 AD,
(C) 1870 AD.

(D) 1872 AD.

Which of the following is the principal

river of the Bastar Plateau in this state ?

(A) Indravati
(B)  Shivnath
(C) Hasdo

(D) Kanhar

Which of the follow.ing raillines does

YOUR SUCCESS PARTHNER

137. Trerfafed o & e ad & 30w ¥ fafoy
ST S HEA % O W & e R
T 912
(A) 1858 %.
(B) 1862 %.

(C) 1870 %.

(D) 1872 .

138. wwﬁwaqwﬁvg@ﬂﬁﬁﬁrﬁ#@a
EECaE ki)

(A) =&
(B) Toemmy
© ==

(D) &

139, s’qmﬁﬁmﬁf@aﬁ@miﬁmw

not exist in this state ? qaE g2

(A)  Mumbai - Howrah (A) T - g

(B) Raipur - Vishakhapatnam (B) WR- ﬁfi’m
(C) Bilaspur - Katni fotER - ey
(D) Raigarh - Puri ,:/’a INDIRESULTE b)) s T
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140. Who of the following was the first
Maratha ruler in this state after the end
of Kalchuri rule ?

(A) Bhaskar Pant

(B) Raghuji Bhosla
(C) Bimbaji Bhosla
(D) Keshav Dinkar

141. Which of the following dynasties was the

earliest during ancient period in this
state ?

(A) Rajarshitulya Kula
(B) Sharabhpuriya
(C) Pandu

(D) Naia

142. The main occupativon of which tribe of this
state is “Bamboo Craft’ ? '

(A) Halba
(B) Kandara

(C) Kathiya

o (#)WoiResuLTe
ariya

YOUR SUCCESS PARTHMNER

141.

142,

uuuuuuuuuuuuuuuuuu

o E1 Y Frefare 3 & i

(A) TR Td
(B) ot shwn
(C) et dret

(D) v fea

s e W B Frefted 3§ S
TEY GAYgH A1 7

) g

erﬁﬁmﬁf@amwﬁtaﬂg@
= aig frea’ 87

(a) &
(B) HeU
© e

(D) 'E'Jﬁ?lﬂ
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143. Which is called as ‘Jogi Bithai’ iri Bastar 143, &R e%izq 3 ‘i) foraré " fordl shet stran 2
Dassahara ?

(A)  Establishment of jdol o (A) i T T
(B)  Establishment of Hag in chariot (B) U =S TUT

(€} Appomntment of Pujari : (C) g =i ERIES

(D) Establishment of kalash in the (D) wfex § oy e
temple '

144. At which of the f(,)i]_()tav'.in.g: p’.{aggsii‘ﬁ fhis 144, T & f=fafge o Timg wE g f‘*ﬁ%’
e & walis faga e feme 37

(A) Ravghat (A) T
(B) Chhote Dongar AT (B) B TN
(©) Bailadila © e
(D} Rajhara o (D) "y

145. Who of the f'ri*.ll(_m'ing Was m‘ulvedm the 145. U H 1942 & IR 9ZES HE o

oo o~ g e ’,‘" I _ % . o~ e AN
raipur Lonspirracy Case of 1942 in this Fefefed & 3 = it o

state 7

(A} Maulana Abdul Rauf (A) HAM d &%
r 3 3
(B} Ramgopal Tiwari (B) T faem)

(C} Parasram Sonj . - (C) dTeuw 9t
D) Ratnalar ha @lNDlRESULTE (D) wr

YOUR SUCCESS PARTNER
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146. Who was one of the leader of this state 146. 39 T A 1922 F W'il‘rml SEIRED

imprisoned at the time of Raipur District e % qrg e g el 4 4 &
Political Conference in March 1922 7 g7

(A) Pt Sundarlal Sharma (A) T gIare T

(B) Rawt Khan (B) W% EC|l

(C) Pt Ravishankar Shukla (C) . Vfereisht YA

(D) Pt. Ramanand Dubey (D) T AR g

147. ‘Sarhul’ is the festival of which tribe of ~ 147. T WA EREEREIGED TRR WEd ¢ 7
this state ?

(A) Uraon : (A) =@
(B) Gond | _ (B) TS
~(C) Pradhan | | (C) wuH
(D) Kanwar | (D) A

148. On which of the following rivers in this ~ 148. 7o v ¥ freAfafaad o 9 forg 78 ox e

state the Ravishankar Sagar Project has FIR g fed 22
been situated ?

(A) Mahanadi C(a) A
(B) Shivnath IR ‘
(C) Hasdo ° (O ®
o) ey CONPIRESULTE )
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149. I which of the following years Raipur -

%as made the capital of this state ?
(d) 1818 A.D.
(B 1825 A.D.
(¢ 1858 A.D.

(D) None of above

150. Towhich of the following Zamindaris the
first martyr of this state Narayansingh
belonged ?

(4) Bilaigarh
(B) Pendra

(C)  Gundardehi

uuuuuuuuuuu

iiiiiiiiiiiiiiiiii

149. Trfafad 4 § frg o 4 TR 91 59
-l USSR TR ?

(A) 18187%.
(B) 1825%.
(C) 1858 %.
(D) SH ¥ g T

150. ﬁw%iﬁaaﬁﬁfﬁwﬁﬁﬁésamaﬂ
I YR TG Heifeg o 2

(a) foerérg
(B g

© s

RRRRRRR

(D) Sonakhan %'NDlRESULTE (D) WA

indiresult.in vvhatsa_pp - 9352018749
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